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130100{72 L0 A B 25,130
130100[72 1\ 2 A R 560 350[ 10 1,728 1,296
130100{72 L0 A wE 9,990 9,990| 10 2,160 1,080
130100[72 1\ 2 A S 2,880 2,880 12 1,944 1,728
130340(31CA LA B 18,440
130340[#1cA L A S5 5,020 5,020{ 10 3,456 1,836
130340(31cA LA BeA 2,460 2,460| 10 3,456 2,668
130340[#1cA L A ERE 9,690 9,610 10 3,618 1,642
130400| 1% 5 B 804
130400 1% 5 55 500 0 470 10 5,940 1,080
130600{ 1A = A B 2,013
130600[#LA = A = 1,830 ol 1825 5 4,104 918
131100|f32 B 15,360
131100|A % o] 9,760 ol 9010 15 4,860 2,322
131100| &3 B4 750 0 750 15 4,320
131100|A % EE 2,600 ol 2600 13 2,700
131100| &3 R 1,650 ol 1650 15 2,160 1,944
131700|% v~ B 34,328
131700(% + ~ v B4 15,390 ol 958 10 3,240 1,890
131700|% v~ RE 13,088 o| 13088 10 1,944 702
131700(% + ~ v e 1,500 ol 1500 10 2,160 1,944
131800[1 5 M A E B 1,993
131800(1F 5 M A E EE 228 208 20 02 162
131800[1F 5 hAE & 1,530 ol 1517 45 3,780 2,970




131910(Fh & et 1,882

131910(F R & KR 16 0 16 0.045 63 62
131910(Fh & FE 86 0 84| 0.5 335 302
131910(F R & B[] 370 0 370 1 1,728 1,080
131910(Fh & ) 1,180 0 1,180 5 1,566 1,026
131910(F R & TiE 230 0 230 5 4,860

131950(H & et 5,426

131950(A R & HE 1,520 0 650 5 3,780 2,160
131950(H & BSE 570 0 285 3 2,376 1,080
131950|H A & TiE 210 0 210 3 1,512 1,296
131950|B A& BES 666 0 666 3 2,268 1,404
133400(L % X e 13,761

133400(L % 2 I, 3,735 0 3,735 10 2,700 1,728
133400(L % X & 6,380 0 5,700 10 3,024 2,484
133400(L % 2 ES 1,700 0 1,700 10 3,240 2,052
133400(L % X F=1iA 456 0 324 4 2,160 1,512
133400(L % 2 Rig 1,490 0 1,400 10 1,566 1,404
134100|#A/1 e 13,215

134100 |#8/1 ES 3,980 0 3,980 5 2,052 1,404
134100 |88/ A 1,355 0 1,030 5 2,376 1,512
134100 |88/ =l 7,065 0 6,415 5 2,376 1,188
134100|#A/1 BRS 465 0 465 5 1,728 1,458
134200|/ M et 1,700

134200|FE /M —a-Y—-5vF 1,700 0 1,370 10 2,916 1,944
134300 (%6 7 et 5,352

134300(#6F s 661 661 2 1,080 594
134300 (%6 F Syl 3,934 3,436| 0.24 113 97
134400| k= b+ e 9,038

134400| k< k s 1,194 1,194 1 324

134400| k= b+ R 3,217 3,217 4 1,620 1,404




134400 k< b REA 4,612 4,592 4 1,944 1,080
134500 &' —~ >~ ¥ 4,787

134500 "=~ ~ = Al 1,080 1,080 0.15 119 108
134500 &' —~ >~ = IR 3,114 2,800 0.13 139 97
135100 WA F A ¥ 78

135100| W A LT A = 68 68 2 4,320 3,672
135200|%= ¥ 122

135200|%= ANER L 122 112 2 4,158 2,160
136100[HA L & ¥ 21,685

136100(AA L & I 12,250 500 5 1,296
136100[HA L & & 6,175 5,900 5 1,998 540
136100(AA L & R 3,260 3,260 5 1,944 1,404
136200| %5 ¥ 8,540

136200(F % B IR 8,540 8,500 10 3,564 2,398
136210| X —27 4 >~ ¥ 5,000

136210( X —7 1 ~ time 5,000 4,850 10 3,672 1,620
136300| 2% ¥ 1,150

136300(E3 i 1,150 1,030 10 5,616 3,240
136600|7- & ¥ 17,485

136600|7z & Jtime 10,330 10,330 20 3,024 2,808
136600|7- & BE 2,395 2,395 10 2,754 2,376
138100({& L W Ao lF ¥ 2,640

138100|& L Wizl fig 1Ly 152 152| 0.08 73
138100({& L W /o lF BE 2,301 2,241 0.2 259 92
138500| L& LE ¥ 3,517

138500(L® LE g 3,495 2,868 0.2 99 81
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240700(Z @R AN A [F2K 6,467
240700 (& @R A h A FMFRWL 4,955 4,955 10 4,860 1,404
240700 @3RN A D A = 1,512 1,512 10 4,860 1,620
241320|/\#8 B 4,425
241320|/\#A AMFL 455 455 10 3,564 3,456
241320 /\#A hN= 3,970 3,970 10 4,104 3,024
241390(IFA DA biToesY 400
241390(IFA DA % 400 0 400 10 4,860 1,728
241470 A DA biToesY 240
2414701 2 A DA = I 240 0 210 3 3,780 3,240
2014817 aR v & A |H% 2,550
241481|F a RV M A FMFRWL 1,485 1,485 5 3,240 2,700
241481|F 2RV HHh A I 1,065 1,065 5 3,024 1,620
2423201 a 73— F ¥ 140
242320(>Ya S a—L K B 140 0 0 10
242830(.5\C W AT be 5,820
242830|.5CW AT F7& 5,820 0 4,360 10 5,940 3,564
242850(FEM Y A Z be 190
242850| MY A Z F7& 190 0 190 10 5,184
246000({\ b & be 10,564
2460001 b & HE 392 99 293 0.25 518 356 594 324
246000({\ b & = 125 654 0.25 486 216
2460001 B & 12 2,421 2,353 0.25 562 410
246000({\ b & RI%G 3,412 3,412 0.25 540 270




246000 REAR 3,129 0 1,782 0.25 464 302
246000 = 15 430 0 3431  0.25 432 324
247100 7 — 2 X O [

247100| 7 — LR A AV 364 364 9 19,440 9,180




